Math 346 Quiz 6B
March 7, 2016

name:_ANSWER S — Supplengf

Instruct:ons No calculators! Answer all problems in the space provided! Do your rough work on scrap paper.

1. Fillin the blanks:
Suppose det A = 0, then

e The system AX = b has e{’(Lex none o lh;[wm"ejj W\ﬁhj solutions

e A1 afoeg "“°+ (exists/does not exist)

The matrix 4 is Slhgu{m* V‘°""'1"VC.Y‘L\(,M’aingular/non~singu|ar)

The RREF of A is =L

- -
The solution to A% = 0 is ¥ = CAUIGL LQ, MM}) 'ﬁ..,fhg,f.-. f"‘yclkt'}'t $ ole, I"(‘[‘M{{bﬁ K=0




